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PROCEDIMENTO E RISULTATI 225500

Cl03.xxxx.135

Quadro contributi PLV per iperstatica X=W g

PROCEDIMENTO E RISULTATI 225500

Cl03.xxxx.135

Sviluppi di calcolo iperstatica

M) M, (X) ) MM, MB| MM, [JM(M/EI+B)dX | [XM M, /EJdx
ABb |-1+x/b|  -3/2Fx-1/20X° 0 | 32Fx-Fxb-1/29x%b | 0 |1-2x/b+x*/b’ ,
, , s . (7/24+0)Fb’/EJ | 1/3Xb/EJ
BADb x/b | 2Fb-5/2Fx+1/2gx 0 |2Fx-5/2Fx/b+1/2gx’/b| O x/b
BChb 0 -2Fb+2Fx 0 0 0 0
0+0 0
CBb 0 2Fx 0 0 0 0
AD2b | 1 -5/AFX+1/29x° 0 -5I4Fx+112Fx’/b 0 1 ,
, , (-7/6+0)Fb°/EJ | 2XbIEJ
DA2b | -1 |1/2Fb+3/4Fx-1/20x°| 0O |-1/2Fb-3/4Fx+1/2Fx’/b| O 1
DEb |1xb | -1/2Fb+1/2Fx 0 | -12Fb+Fx-1/2Fx’fb | 0O |1-2x/b+x’/b? ,
, - (-1/6+0)Fb*/EJ | 1/3Xb/EJ
EDb | /b 1/2Fx 0 -1/2F%Ib 0 x*/b
EFb 0 0 0 0 0 0
0+0 0
FEb 0 0 0 0 0 0
FGb 0 1/2Fx-1/29x° 0 0 0 0
, 0+0 0
GFb 0 -1/2Fx+1/2gx 0 0 0 0
GCb 0 0 0 0 0 0
0+0 0
CGb 0 0 0 0 0 0
HG b 0 0 0 0 0 0
0+0 0
GHb 0 0 0 0 0 0
HB b 0 -5/4Fb+5/4Fx  |-Fb/EJ 0 0 0
0+0 0
BH b 0 5/4Fx Fb/EJ 0 0 0
HE b 0 5/4Fb-5/4Fx 0 0 0 0
0+0 0
EHb 0 -5/4Fx 0 0 0 0
AB molla asta -W, ,g(Wag?XW, 05) Kag 1/4Xb/EJ
totali -25/24Fb’/EJ | 35/12Xb/EJ
iperstatica X=W g 5/14Fb
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b
LX=(1-2xb+xb%) VEIdx+1 1 14 bEI = [ x-x¥b +1/3x%b*]) 1/EI +1 1 1/4 b/EJ

=(b-b+1 1EJ +1 1 1/4 b/EJ=7/12 bJE 185
(b-b+1/3b) 1/EI + /4 bIEJ =7/ b/b.] — A= 1020. mm?
Léi:jz( X’lb’) VEJdx+1 1 14 b/EJ=[1/3x°°] 1/EJ +1 1 1/4 b/E] Jag ol . J,= 360241 mm*
_ 4
=(1/3b) 1EJ +1 1 14 b/EJ=7/12 b/EJ s
Y, = 29.65 mm
XX 2b 2b S
Le="(1) vEIdx=[x]] 1/EI T,= 3220.N
) (2 A ) UE) =2 bIES M, =-2415000. Nmm
2b 2b y u X = 12. mm
Loe=]"(1) vEIdx=[x] 1/EI Uy = -12. mm
V., =-29.65 mm
=(2b) VEJ =2 b/EJ m
(2b) b 0, = -Mv/J, = -198.8 N/mm’
L= (1-2xb +xb* ) UEI dx = [ x-xXb +1/3 X% ], 1/EI NV X, = 24.mm
112 =
- - y.= 48.mm
=(b-b+1 1/EJ = 1/3 blE
(b-b+13b) 1/EI =13 b/bJ v,= 18.35 mm
L :f:( x’Ib*) VEI dx = [13 07 | 1EI On 0,=-Mvi3, = 123. Nimm’
_ _ o T,= 4.962 N/mm’
=(v3b) VEI =153 b/E] 0, = Vo™+31° = 123.3 N/mm?
Xo 2.2 3.3 2 S a 8 3 g ? s
1 = [(3/2 b - x2ib* -1/2 X/b° ) Fb 1/EJ dx + 1 0 1/4 FbY/E mm S S ©_©0 x 3 S’ = 6662. mm

= [314 %10 -1/3 xib* -1/8 x'1b° ] Fb 1/EJ +1 0 1/4 FbY/EJ
=(3/4b-1/3b-1/8b ) Fb 1/EJ +1 0 1/4 Fb’/EJ = 7/24 Fb’/EJ

1 = ['(2 x/b -5/2 X216 +1/2 X°/6° ) Fb /EJ dx + 1 0 1/4 FbY/ED
= [ X1 -5/6 xb? +1/8 x16° ], Fb 1/E3 +1 0 1/4 FbEJ
=(b-5/6b+1/8b ) Fo 1/EJ +1 0 1/4 Fb’/EJ = 7/24 Fb’/EJ

18 = [2°(-5/4 xtb +1/2 X2/b* ) Fb 1/EJ dx = [-5/8 x2b +1/6 x1b” | Fb 1/E3
=(-5/2b +4/3b ) Fb 1/EJ =-7/6 Fb’/EJ

1 = [2°(-1/2 -314 xib +1/2 x1b® ) Fb 1/EJ dx = [-1/2 x -3/8 X%/ +1/6 x/b* | Fb 1/E3
=(-b-3/2b+4/3b ) Fb 1/EJ =-7/6 Fb’/EJ

1% = [(-1/2 + xib -1/2 x81b* ) Fb 1/EJ dx = [-1/2 x +1/2 x¥1b -1/6 xb* | Fb 1/E3
=(-1/2b+1/2b-1/6 b ) Fb 1/EJ =-1/6 FbY/EJ

1 = [(-1/2 xb* ) Fb 1/E3 dx = [-1/6 x°ib* ] Fb 1/E
=(-1/6 b ) Fb 1/EJ =-1/6 Fb’/EJ
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